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> for i from 1 to 10 do

FF||i

mtaylor(expand(expand(FF)), [z,s,zb,sb,v], i+1, [1,1,1,1,2])

mtaylor(expand(expand(FF)), [z,s,

zb,sb,v], i, [1,1,1,1,2]);

od;
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> for i from 0 to 8 do
AAlli =
mtaylor(expand(expand(AA)), [z,s,w], i+1, [1,1,2])
;ntaylor(expand(expand(AA)), [z,s,w], i, [1,1,2]);
od;

AAO=a +1b
AAl = (-c+1d)z+ (-a+1b) s

AA2:=(%a@—i—SIe)zz-i-(—%a@-l—SIe)w-i—(—c-l—Id)zs

AA3:=(—10a—101b)z3+(101b+30a)zw+(—%aG—SIe)sw

AA4:=(-10c—51d) w* + (10a +101h) zsw + (-20c + 101d) 2w

AA5:=(—%a9—lOIe) P (-Sct+51d)Fs+(4a0—501e) Zw+ (751e
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AA6:=(—20a—201b—%16d+%60) £y ( 220 a+ 120 Ib)w3+(—2a6
+251e) zsw* + (200 a + 100 1b) 2w
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> for i from 0 to 7 do
BB||i :=
mtaylor(expand(expand(BB)), [z,s,w], i+1, [1,1,2])
;ntaylor(expand(expand(BB)), [z,s,w], i, [1,1,2]);
od;




BBO:=c+1d
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> for i from 0 to 9 do

CCJ|li :=

mtaylor(expand(expand(CC)), [z,s,w], i+1, [1,1,2])
;ntaylor(expand(expand(CC)), [z,s,w], i, [1,1,2]);
od;
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CCO=1e
CCl=2a—-21b)z
CC2:=(c—1d) Z—2cw

CC3:=(%aG+IOIe) ZwW

CC4:=101w*b+ (-10a—101b) Zw
CC5:=(2c—21d)2+ (-20c+101d) zw’
CC6:=-4a0w + (2a0—251e) 2w’

cC7 = (iled—iec) Z7+(—20a—201b)25w+(400 0+ 290 Ib)zw3
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